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(C) Liquidity ratios are used to assist in managing a business. Name two of these ratios and
describe their respective benefits.
(20 marks)
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(i)

Using the figures given below calculate the Debt/Equity ratio of SES Ltd for the years
2006 and 2007. (Show your workings)

2006
Long Term Loans 300.000 364.000
Ordinary Share Capital 450.000 450.000
Retained Eaminy 50.000 70.000

‘Comment on the significance of the trend in the Debt/Equity ratio over the two years

for the existing shareholders.

(20 marks)
(60 marks)
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Financial information published in financial statements such as Profit and Loss Accounts and
Balance Sheets is useful for decision making. Consider the following figures and answer the
questions that follow:

2005 2004

€ €
Sales 500.000 400,000
Expenses 50,000 40,000
Net Profit 70,000 60.000
Capital Employed 650,000 600,000

() For 2004 and 2005, calculate the Gross Profit Margin. the Net Profit Margin and the
Return on Investment.
(i)  Analyse these profitability trends and discuss how shareholders might use them in

making decisions.
(40 marks)
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®)

Tllustrate the benefit for the good financial management of a business of the:

(i) Profit and Loss account
and
(i) The Balance Sheet.

(20 marks)

()  Using two ratios in cach case. analyse the profitability and liquidity trends in Calty

Construction Co. Ltd.. from the following figures for 2002 and 2003.

()  Suggest how the trends might be improved.

2002
Current Assets 15.900
Net Profit 15.100
Equity Share Capital 100,000
Current Liabilities 8.100
Closing Stock 9,100
Gross Profit 45,150
Retained Earnings 20,000
Sales 169.500

2003
16.800
12.285

105.000

7.400
12.400
40.950
21.000

157.500

(40 marks)

(60 marks)
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Discuss the importance of the following financial statements to the management of a business
enterprise.

(i) The Profit and Loss Account.
(ii) The Balance Sheet. (30 marks)

From the figures given below.
(i) Calculate for 1999 and 2000 the Acid Test Ratios and the Debt Equity Ratios.
(ii) Analyse any trends you notice from your calculations.

1999 2000
Current Assets IR£ 90.500 IRE 75.400
Current Liabilities IR 65.100 IRE 44.600
Closing Stock IR£ 47.300 IR£ 51.200
Equity Share Capital IR£ 240.000 TR 240,000
Long Term Debt IR£ 150.000 IR£ 220.000
Retained Earnings (Reserves) IR£ 60.000 IR£ 62.000

(30 marks)
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(B)  The following figures are taken from the final accounts of Flame Ltd for 2013,

Flame Ltd

€
Authorised Share Capital 900,000

Issued Share Capital 450,000
Long Term Loan 200,000
Retained Earnings 150,000

1) Explain the term 'Debt/Equity Ratio'.

(i) Calculate the Debt/Equity Ratio for 2013. Show your workings.

(i)  Discuss the importance of the Debt/Equity Ratio when deciding on new sources of
finance for Flame Ltd. (20 marks)
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(B) The average performance of companies in the same industry as Bianua Ltd for 2011 is detailed in
the table as follows:

Industry Average Results 2011

ROI

Current Ratio
Acid Test Ratiq|
Debt/Equity Ratio

The following figures are taken from the final accounts of Bianua Ltd for 2011.

(i)

Bianua Ltd figures for 2011

Net Profit

Sales

Current Assets
(including closing stock)

Long Term Loan
Ordinary Share Capital
Current Liabilities

Retained Earnings

Closing Stock

Calculate the following for 2011 for Bianua Ltd:

©  Return On Investment (ROI)

s Current Ratio

e Acid Test Ratio

e Debt/Equity Ratio. (20 marks)

Analyse the profitability and liquidity of Bianua Ltd for 2011, with reference to the
industry average results shown in the box above. and make recommendations for
Bianua Ltd. (20 marks)
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(B) From the figures giv en below for 2009 calculate the following for CES Ltd.:

(i)  Net profit mar;
(i) Current ratio:

Information for 2009

(iii)  Acid Test ratio:
(iv)  Debt Equity ratio.

Sales

€135,000

Net profit

€33,750

Current Assets
(including closing stock)

€84,500

Current Liabilities

€65,000

Closing Stock

€39,000

Ordinary Share Capital

€300,000

Long Term Debt

€192,000

Retained Eamings

€20,000

RESULTS 2008
Net profit margin
Current ratio
Acid test ratio

(20 marks)

(€) Analyse the significance of the trends over the fwo years (2008/2009) for the following

stakeholders:

(@) Investors/sharcholders:

(i) Suppliers:
(ii) Employees.

NOTE: Results for 2008 are already calculated above.
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(20 marks)
(60 marks)




